Potencias de 10

©)

6.3641 = 10°

2.5567 =103

4.7474 +10°

7.9395 +10!

4.6462 =103

7.1034 +10?

2.3204 = 10?

9.8127 + 102

1.1233 =103

2.4623 10!

Calcule los siguientes cocientes.

1.0454 + 10!

4.935+10°

7.6818 +10°

5.7812 = 10°

4.6455 + 107

9.1122 = 10?

7.6483 10!

7.0825 = 102

8.6748 =107

2.3515=10°
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Potencias de 10 (C) Respuestas

6.3641 +10°
0.063641
2.5567 +10°
0.0025567
4.7474 + 10°
0.0047474
7.9395 = 10!
0.79395
4.6462 + 10°
0.0046462
7.1034 = 10?
0.071034
2.3204 = 10?
0.023204
9.8127 < 10?
0.098127
1.1233 - 10°
0.0011233
2.4623 10!
0.24623

Calcule los siguientes cocientes.

1.0454 10!
0.10454
4.935 = 10?
0.04935
7.6818 +10°
0.0076818
5.7812+10°
0.0057812
4.6455 = 10?
0.046455
9.1122 = 10°
0.091122
7.6483 10!
0.76483
7.0825 = 10?
0.070825
8.6748 =+ 107
0.086748
2.3515+10°
0.0023515
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